K B
(1) 1 & T % & 5 G - dbf)
=
71
e mE LESHE (K d ) S1:48
i $2:86
21 D:81
fiki w2 H - S1:81
S I CXmE (F H ) 5780 e
D:58 2—1
() 4 L@ (- e s
alll $2:12
30
b FiERELT¥ESSE (I ) S$1:80 5(61(6R'E6T3)')
y=ull| 32:97 D20
o y 21 D84 6161
6 F I L ¥ @& H (B X)) S1:81
S2:84
D:79
TR ML e HE (BE-E)
8 B fE L ¥ m (i) j -
D:58 20
(3) 0 BB TEEE OUM - i) o909
D:80 | e
10 MM T % A E UM - i) 21
S$1:20
- (62, 61)
1 OKBRI TEES (T % ) o og . S22 06
D:82 2T D:12(26
o \ S1:83 64, 26)
(2) 12 & B T % & & (G - bkE) S2:38
D:97

> — FIELT

No.
No. 2
No.

1 g - dbREHIX DNo. 1
I - AbREHIX ONo. 2
JUM - PR HIIXNo. 135 K OB B « {F X DNo. 1
B EHIXEFEMER
26 BREIZFEFHEMER
3 KERFIIESFEMER

34

B IETEEMER

=i
2-0

$1:20
(62, 75)

S2:11
(61, 57,
31 ($740))

D:20
(75, 75)



